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1.

The energy equivalent to a substance of
mass 1 gis "

(A) 18x1013J
(B) 9x1013J
(C) 18x108J

(D) 9x108J

The half-life of tritium is 12-5 years.
What mass of tritium of initial mass
64 mg will remain undecayed after
50 years ?

(A) 32mg
(B) 8mg
(C) 16 mg
(D) 4mg

In a CE amplifier, the input ac signal to
be amplified is applied across

(A) Forward biased emitter-base
junction

(B) Reverse biased collector-base
junction

(C) Reverse biased emitter-base
junction

(D) Forward biased collector-base
junction

1 10 0odrt IS 33

(A) 18x1013J
(B) 9x1013J
(C) 18x108J
(D) 9x10%J

3 a0d0R LGRFo3nR) 12-6 IRFRFNT.
64 mg T,00HT BHTHCWTT 303008
@) FRREd 50 STFRY 8030 BeZgnd
Sorte eveQTH3a ? |

(A) 32mg

(B) 8mg

(C) 16 mg

(D) 4mg

Toswerod ac AT Mi@‘“d.‘ge CE
S03FODT T, VW|OFRL BSJOWAT

(A) OUIEF WO, PLITT-IT*
WOFT®

(B) OBA'F WO, SO WoFI*

(C) OoJxs wo:b;'a‘a REEITT-LIZ*
Roge*

(D) TOJEF  WODRS, BSBO-R
ROFR
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4.

If A.=1 and B = 0, then in terms of
Boolean algebra, A + B = |

(A B
(B) B

C) A

g

(D)

The density of an electron-hole pair in a
pure germanium is 3 X 1016 m=3 at
room temperature. On doping with
aluminium, the hole dénsity_increas_es to
45 x 1022 m3. Now the electron density

(in m~3) in doped germaﬁm will be

(A) 1x101°

(B) 2x 1010

(C) 05x 1010

A=13) B =0 «33, wdobhs*
VeWNEISE BTV A + B =

(A B

Wl

(B)

© A

g

(D)

ﬁ.raez%oda 2IRRIBEY, | wodd> g
3gesderAODOIY, HTTYT - gog,
HWreaod 033030 3 x 1016 m™3 &g,
DT, B’
Snamn 8o, MWoBZ030 45 x 1022 m™3

eurazsm"o)od)o&)od

Sy, HeRHIB BN Bt R GNOO
#¥deRodos R o3 (m IY)
~_ 8NTIT.

(A) 1x1010 .

- (B) 2x1010

(C) 0-5x 100

. \
Physics - 6’}\}{@

W

e
R

(3;H)

(D) 4x1010
: (D) 4 x1010
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6. The dc common emitter current gain of a
n-p-n transistor is 50. The . potential

difference applied across the collector and |

emitter of a transistor used in CE
configuration is, Vog = 2 V. If the

collector resistance, R = 4 kQ, the base
current (Ig) and the collector current (Ig)

are

(A) Ig=10pA, Io=0-5mA
(B) Ig=05pA, Ig=10mA
(C) Ig=5pA, [p=1mA

(D) Ig=1pA, Ig=05mA

7.  The radius of the Earth is 6400 km. If the
height of an antenna is 500 m, then its
range is

(A) 800 km
(B) 100 km
(C) 80km
(D) 10km

8. A space station is at a height equal to the
radius of the Earth. If ‘v;’ is the escape

velocity on the surface of the Earth, the

same on the space station is

n-p-n @Q)ﬁwda‘ TR QNOT® FT0E®
Res® 50. CE  0oB0  [RTODY,
Jodnenad Qo030  Veg = 2V.
39803 GnegR) Re = 4 kO, €30, o
3o (Ip) o3 segp® ot (Ig) ob
AL )

(A) Ig=10pA, Ig=05mA
(B) Ig=05pA, Ip=10mA
(C) Ig=5pA, Io=1mA

(D) Ig=1pA, Ig=05mA

BRVD 3% 6400 km eshdef); 2083
B08eTon 230 500 m 83T, BB0 WY,

(A) 800 km

(B) 100 km

(C) 80km
(D) 10km
2,03 ﬂuefu"‘. RSt g@edocd é%ga
RATTT HZ0BOS. vy edded Hoed 3
DR T VNG, e Fer

times vy, - éfailwm’?,, — ) OﬁJ“aS:lJ ; RROTMZT.
1 1 1 1 )
@ ® - w 3 ® 3
1 3 1. 1 1
< —= D) — C) — D) —
7 B © & &5
Space for Rough Work / 2,883 %v;'o‘i; e
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10.

A particle shows distance-time curve as
shown in the figure. The maximum
instantaneous velocity of the particle is
around the point

*
S
§ R
A Q
P
>
Time
(A) P B) S
(C) R D) Q

Which of the following graphs correctly
represents the variation of ‘g’ on the
Earth ?

10.

2,00 3600 BRT-IROODT FgZo Besdod
BRI, 3ReOREPNT. 81 BET NOF BTOT
SBenz) 83 WORINOT MHTITIOTIT.

1l
S
R
e
g Q
1 4 R
pinelove
A) P B) S
© R D) Q

& NS SEnYQ, cIRIT  Heaod
eds g B R|IASI,  ROCIRA
oWRIT ?

g g
W I&’ A) I&;
r T
R R
g g
(B) ‘ C :: (B) ‘ i .:
T ! r
R ' R
g g
©) ‘ i' (©) ‘ i'.
T s 1
R R r
g g
A
A
(D) N\ (D) 'E
r ! r
R R
Space for Rough Work / 2.8 QOSG* g
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11. A cup of tea cools from 65:5°C to 62:6°C in

1 minute in a room at 22-5°C. How long
will it take to cool from 46:5°C to 40-5°C
in the same room ?

(A) 4 minutes

11. 225°C HHTBNINCOE BremodQ, wowd

8¢ 2350 65.5°C 20T 62:5°C 1i 1 0T,
Bomor3d. el dremoddQ, 46:5°C Q0T
405°C R Iomeneo R RSOD

3RS ?
(B) 2 minutes (A) 4 dTNH
(C) 1 minute (B) 2 dOIMED
(D) 3 minutes () 1300
(D) 3 J/ALL
12. The dimensions of the ratio of magnetic .
flux (¢) and permeability (1) are modecdd F, (9 DR I3 (W 1
- TIT SOINROT) SN,
(A) MOL!TOAY
Aa) MOL'T® Al
@) MOL3T10AY a S
@) m°L3T1%A%
© M™OL'TIAT |
MO L2 1O AL © MOLITAY
D L27T°A
® : D) MOL2TOAlY
AV 20edI ‘m’ AR
18. A mass ‘m’ on the surface of the Earth is R0 ¢ . ey
shifted to a target equal to the radius of QR0 WeRed Sl RBOTT
the Earth. If ‘R’ is the radius and ‘M’ is BeoBOHS oo Ryec3oITond.
the mass of the Earth, then work done in Raood &% R’ A S) g%o;)g M engQ,
this process is 81 8000308 SNBOR 3OIB FRRED
N33,
(A) E‘%R- (B) mgR 3
@A) 28R (B) mgR
R
C) 2 (D) De=
et 4 (C) 2mgR (D) ’—“f—R
Space for Rough Work / .00 $038 ¢
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14. First overtone frequency of a closed pipe 14, 1y GVGRGR womd SR adEEe
of length ‘1 l;isarl:q:;:nto :h: i:‘i:agrtrlllm‘r;i:: 30003 BOMTT 35’5 30300 15 emcg) 25

T .
frequency © PP 2 ro 330 8avaSold HORS Ron3a e

The ratio l—l- = l
lg BeNGS. TOTWTT 21— =
2
3 4
4 B) =<
(A) 4 3 (A) 3 (B) 4
3 @ 2 ; X
C — —
© 3 3 © > ™ 2

\Y
1 = — h
15. The resistance R = Whoere 15. d2e@ R= ¥, V=(100£5) V 0

= dI=(10x0 .
V=(100+5) VandI=( +0-2)A 1=(10:t0-2)A,_&’C‘5,dﬂde?’Q@d@fﬁ

The percentage error inRis

A) 52% desa

(B) 48% . _(A) 5-2%

© 7% (B)  48%

(D) 8% © 7%
| D) 3%

16. A block rests on a rough inclined plane

making an angle of 30° with the 16, woth o> ABBRE I

0

horizontal. The coefficient of ~static RBooDiomod, 30° BREIRQ, O
friction between the block and the plane (Al jasieler oed VY Pu@éodaeﬁmmaﬁ, 3003
is 0-8. If the frictional force on the block 23> C)%mbr{e} SEOR TCVTRFTS 08,
i lock i - | ®
Tg lfoN’ __;:’e mass of the block 8 Doy Bed3 TRES wo 10 N, 8T,
=10 ms :
20@IDS Tod, (g =10 ms2)
(A) 1lkg
(A) 1lkg
(B) 2kg . B) 2kg
(C) 3kg (C) 3kg
(D) 4kg (D) 4kg
Space for Rough Work / %08 Goﬁi* 3
oA | '
/o/ 0 \0 X §
i 004,7“ t q_,v Hy
ysics - T —
= 4
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17. Two particles of masses m; and mg have
equal kinetic energies. The ratio of their

momenta is

(A) my:mg

(B) mg:m,

(C) my : Jmg

(D) mf : mg

18. The pressure at the bottom of a liquid
tank is not proportional to the

(A)
(B)
©)
(D)

Acceleration due to gravity
Density of the liquid
Height of the liquid

Area of the liquid surface

19. A Carnot engine takes 300 calories of
heat from a source at 500 K and rejects
150 calories of heat to the sink. The

17.

18.

19.

(A

(©)

m; I my T NOB>  Bearieh
IDod  BIODD, BrodmeR, BInd
Tosden LT3R

(A)
(B) mg:my
(€ Jmy . Jmg

(D) 2 2

m1:m2

l]flllllll2

BROTIR 1,08 39T, 1IED) SRRTE
95308308203 BSNTIDY,

g3 Sertpedme

B3B3 B3

3=E 230

BRT Boe B OYeEdF

(B)

(D)
PP 20es, 500 K 3o0mnoted
300 TEED TS 3rtod03d, RO
150 59,8ed DTS2, ToD 338 DeRIT.

temperature of the sink is 7 B0 30G CURS
A) 125K (B) 250K ®
© 750K (D) 1000K A) A2SHE (B) 250K
(C) 750K (D) 1000K
20. Pressure of an ideal gas is increased by | 20- 38 FPY, STIF 0T wIBII),
keeping temperature constant. The 23000 20Ny o 33
kinetic energy of molecules = ' -
(A) 3B SRO[TO
(A) Decreases
(B) Increases (B) émzj‘b Do
(C) Remains same ((®) _@ﬁeo&:e VP OTNR)TO
(D) Increases or decreases depending on (D) ©Q© m;padd Hoedd ab’mzj'bd)d:}
the nature of gas R 3R SRORT
Space for Rough Work / 2.0t $0%E 3¢
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21. A man weighing 60 kg is in a lift moving | 21. %%, oo 18 0¢ 32 gI0DON

down with a:tezc;ele;at;on of 1-8 ms2. 230203 @@‘ﬁ@i’g’ 60 $.0 TRODWE,
The force exerted by the floor on him is omEd OFR TodeR esSs @ed
(A) 588N T o3RENRIT WUR)
(B) 480N (A). 588N
(©) Zero © (B) 480N
C) 3%
(D) 696N pig o
: (D) 696N

22. Moment of inertia of a body about two 22. 2.0 TONT %d@ﬁaﬁﬁ) SEESAL!
perpendicular axes X and Y in the plane Sreed A wowmendos X od Y wgnen

oflammaare20kgm and 25 kg m? R
n 20 B 25
respectively. Its moment of inertia about RO kg m kg m2

an axis perpendicular to the plane of the SN0, H=mEd 8 0B SER
lamina and passing through the point of (X 33 Y) OB ToNR BSCELR,
intersection of X and Y axes is ©owmNddE IRBOTY, STONT BEZD
@ Skgm?  (B) 45kgm? REdH SN,

(A) 5kgm? (B) 45 kg m?

€ 125kgm? (D) 500kgm?
(C) 125kgm? (D) 500kg m?

93. Two wires A and B are stretched by the | 23. 2Ro08 BRoOIR HTR> ot A I

same load. If the area of cross- -section of B Q'.?ﬁd)d A Bo303> BT DyeraF 3=

wire ‘A’ is double that of ‘B’, then the ” By 3 @ x

stress on ‘B’ is !bw oamen ‘B @ doed ORI
QEBIY)

(A) Equal to that on A _
' A AT &edaﬁéoﬁda_mndagd

(B) Twice that on A (B) AT 2eBIT 0> BN

(C). HalfthatonA . - | © AGQamsdegrEasss
(D) Four times that on A | (D) AT 2eBIB 0w JeRNTIS
Space for Rough Work / %0t doxg
pm‘::, omwl ouq or A %f.‘-_
S, )
oo X Lo“ -~ ‘ '

[ y(-&
Physics \,g ﬁ ©@-H) -~ X

0 . fb‘b _[b.'bxl'g
‘ A A L
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24. The magnitude of point charge due to
which the electric field 30 cm away has

the magnitude 2 NC1 will be -

24. 2 NCl ZRnecz i §e3008 30 cm

RRCBART 207> DT 5336303 WD

(A) 2x10711C
(A) 2x1011C
(B) 3x10711C
~(B) 3x10llC
(C) 5x10°11C
(C) 5x10711C »
' 9x 107 C
D) 9x10°11C @) 9x10 |
- 25. 1 kg Dod03», 1V QPRBA 2 C eafeda,
' i h f2Ci
26. Amass of Lkg carryinga charge ol 2% 18 | pesgeie In@es BRodS e
accelerated through a potential of 1V. ~NTT
The velocity acquired by it is (A) V2 ms]
(A) V2 ms1? (B) 2ms™}
(B) 2ms! © L msl.
© L mst &
—_— ms_
V2 (D) % ms~1
(D) % ms~1
26. IDFI WYY, 20D VT 4B
26. The force of repulsion between two SRR d@d P, T 3nd% ey _
identical positive charges when kept with ToRT A8RFe wo T SAId e
a separation ‘T in air is ‘F’. Half the gap 203303 Bdi-'das’%e:ﬂmdddg, Dd%@tdmeqﬁﬁ
between the two charges is filled by a NoDT8 4 GBI &%dé‘r‘@m&c" o
dielectric slab of dielectric constant = 4. udesne o8 2 &)ﬁa“’arsaat Z@@
Then the new force of repulsion between gz
those two charges becomes = “Brbgd.
F F
@ T ® F @ .3 ® f
3 o2
F 4F
F 4F © - D) =—
(®)) : (D) o 4 9
Space for Rough Work / 2.0t Goﬁﬁtgﬂ'
w9
oL
Physics ~
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27. For the arrangement of capacitors as

- e 27. o0y RRLBEFHONNY, TprormoBuBE
shown 1in the circuit, the effective 9,72 = ”
capacitance between the points A and B is 3e0%T T3 GOUIRY TS 4 uF SNTN,
(capacitance of each capacitor is 4 pF) A ¥ B wothnd mdﬂ 20>
+— TOTIRITO TIUBS W)
A% }—«B.:Ec;,m L 4P —4yF l
C4uF =F 4uF A-—% 1—43 4 uF
4 uF 4 uF
‘ T T T
(A) 4pF (B) 2uF (A) 4 yF (B) 2 yF
(C) 1pF (D) 8uF (C) 1F (D) 8uF
28. The work done to move a charge on an | 28 2,080 ARSI 539@%0033@,, WO
equipotential surface is fraskcy USeBTRY, BORLD SRR BORR)
(A) - Infinity’ Tilevciaf
(B) Less than 1 (A) 803
(C) Greater than 1 B) 1 ﬁﬁoé 3R
(D) Zero € 1 ﬁﬁOB’ Clal
| (D) 33
29. Two capacitdrs of 3 pF and 6 pF are|29. 3 pF 303 6 pF @ddR 2TBE> FIENYRY
connected in series and a potential Bees B INEPNGE. IRRE 900 V
difference of 900 V is applied across the 5 35 - .
combination. They are then disconnected v _ =, amem’d' SRl
and reconnected in parallel. The potential DdReRS =INB R DIe BR5030
difference across the combination is HReBREoHORN, IR DFeo033 FHeR)
g RO ’ e
(A) Zero (A) 33 (0)
(B) 100V (B) 100V
(C) 200V (C) 200V
space for Rough Work / WO &Jﬁét 2
Physics (11-H)
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30. Ohm’s Law is applicable to 30. 'R 20D TOROTT
(A) Diode (A) ceS,odraa‘
(B) 'I‘ransistgr (B) éa_a)a‘ﬂu:g;o‘ (@Qﬁy’)
(D) ponducwr D) s
31. If the last band on the carbon resistor is
31. BRep8n RS0 wen
absent, then the tolerance is 1. woth mwFw @ s B
Dosed  @e3odn  ROdmR «BReFEd
A 5% e R~
RBITEOIN Slalebiing
(B) 20% *
© 10% (A) 5% (B) 20%
(C) 10% (D) 15%
D) 15%
32, B3 ¥R Breoathad POBE P 03 Q 1Y
32. The effective resistance between P and Q TG, G0N 283 BRe3R)
for the following network is ~
R
R
3Q 3Q 3@ 3Q
NAAAY
60 6Q
40 5Q - 4Q 5Q
P Q P Q
1 @ B
1
© 120 (D) El“i Q © 12Q ™ = a

Space for Rough Work / 2.0 iozi* 3
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33.

- (0)

Five identical resistors each of resistance
R = 1500 Q are connected to a 300 V
battery as shown in the circuit. The
reading of the ideal ammeter A is

F

+
300V R <R %R R 2R

(A)

A B) ZA

[ B
o] e

oo
>

(D)

ol
>

Two cells of internal resistances r; and ry

and of same emf are connected in series,
across a resistor of resistance R. If the

terminal potential difference across the

cells of internal resistance r; is zero, then

the value of R is
(A) R=2(r;+19)
(B) R=rg-r;

(C) R=r;-ry

(D) R = 2(1‘1 - 1'2)

33. R = 1500 Q @00R 2.0We wrhod 5

34.

Bregndsy, 300V wREOR - wdeedn
RRETVOFR TRF 0BT Zedd.
int{a es;)%eaa‘dd (A) DeRon®

—&)
1 3
ol B) - A
(A) 5A (B) 5
2 .
'(C) EA (D) 5A

2003¢ Lo BT Y R0R deesnd
50308 SReGR 1y ROR 1y DY ARNIRY

'R GreRY, BRGE ez Jerd Posnd,

RoeRRONNS. ©0308 Brel 1y I T
BFISY' D003 BN
Tnas, R S B3

(A) R= 2(1'1 + I'2)

(B) R=ry—1,
(C) R=l'1—1'2

(D) R=2(r;-r9

Physics

Space for Rough Work / 1.0t 0x3 3¢

v Ao
ot ¢
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85. The I-V graphs for two different
electrical appliances P and Q are shown
in the diagram. If Rp and Rq be the
resistances of the devices, then

35. P 2bd) Q wow HO@ wGINE 1-V S B3
89n30s. Rp R0¥ Rq 7D ORI
dregdeneonss

A Q 1 Q
p P
1 I
0 v g o) vV—
(A) Rp=Rq  (B) Rp>Rq (A) Rp=Rq (B) Rp>Rq
© R D) Rp= 2 Rq
p<Rq | P= (C) Rp<Rq (D) Rp=—*
38. The correct Biot-Savart 1 i ecto - '
e CTURVAT W Ve 1 36, watner  Amor, we, aohad
L A0estons) 308 3eI3Y,
@ aF ko 1A1xD) + o
41!\ r2 (A) d—B> = M_O_ I(dl X r)
- - 4n r?
B) dB =ko 1@Ixr) > >
™ 1'3 (B) d—B)=_Ll£ I(dlxr)
- | 4n rd
(©) dB =% 1d! | >
T r? (©) dB =0 1dZ
- _ 4n 2
D) dB =Y  1d! -
tn " o (D) dB =40 1d!
| 4 .3
Space for Rough Work / 2.8t 30‘53* g
Physics
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87. Aﬂ electr-(;n is moving _ill a circle of radius [ 37. B 3= 003Ze3B9, w.0md QIRT, T
rin a uniform magnetic field B. Suddenly 359, FIRY, BORITT. BFratid) Too3F e,
the field is reduced to E . The radius of v
2 B o) sesonrdd. 333 o
the circular path now becomes 2 «
WBRHTO
(A) % (B) 2r |
(A) % (B) 2r
© 5 (D) 4r
' (C) r (D) 4r
4
88. A charge q is accelerated through a|38. V &ya00303Q, WOTD- q 553555-1
potential difference V. It is then passed esBOTees* Swamen, 3D o8 §BRY
normal_ly through a uniform magnetic o' Roer &N 1 HRY, FIBQ, ORI,
field, where it moves in a circle of | 333 &w, 2r =33, BORew Wemnrdad
radius r. The pqtential difference required Q30033 a-,&_!,% _
to move it in a circle of radius 2r is -
B) 4V
@A) 2V (B) 4V @ 2y ®)
' D) 3V
© 1V D) 3V © 1V ) 5 .
| 39. womd ABRHRT LoBRS HRIFIYY
9. A cyclotron’s oscillator frequency is 10 MHz 203 d&3FBse 500383 0-66 T
10 MHz and the operating magnetic field [AZN. e D ¢ duD 60
_ is 0-66 T. If the radius of its dees is 60 cm, Bo.0e. - aZB. oSS ABRERT
then the kinetic energy of the proton Sertee@Rrsnes Fpewos® rouR) TAD
beam produced by the accelerator is 8ot BoS B30io o
B) 10 MeV
(4) 9 MeV B (A) 9 MeV (B) 10 MeV
11 MeV : : '
(€) 7MeV © (C) 7MeV (D) 11 MeV
Space for Rough Work / 2,843 '30!3%@
Lo b0
3q . 0 b beX 1o
4 ) 5o
Physics ((15-H) g eX

0% 60
o 0
50 0k ?
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40. FBnre, Gapjep) d)&_‘ BOI®  To0d0D

40. Needles N;, N, and Ng are made of a
ferromagnetic, a paramagnetic and a IRrvomd Ny, N, a3083 Ny 0 Mdov
diamagnetic substance respectively. A - . 23 033D
: . 81 3wy 380 WO
magnet when brought close to them will RRBTD. 8 2
el lo]
(A) Attract all three of them @A) o OdRiQL eBarROIs
(B) Attract N, strongly, N, weakly and (B) N, 59‘ WOTON HBAFROZE N, dgt
repel\Ns weakly ersoszon R Ng 65.1 Bersoson
DBAFROITS
(C) Attract N; strongly but repel N,
| R0 N, 7iv) gemomon S8R
D) Attract N ‘
(D) a 1 and N, strongly but ™ N, 23 N, R 3% SRz
repel Ng sargs w8 N, aba
DBAFAIBT
41. iTshe strength of the Earth’s magnetic field a1 3P0003 5303 43
A) 2 3@ wode
(A) Constant everywhere ( SR ove SNOES
' (B) 2m 38 3eT, sncH3s
(B) Zero everywhere -
= (©) 2dow BRNIS
(C) Having very high value _
. . ' ] D) e el ed  gomd
(D) Varying from pl_ace to place on the 'Aa;)%"&)od ‘ad%o 3 295 when S8
. ® B
Earth’s surface =33 :
- Space for Roﬁh Work / 2,080 303% A
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42. A jet plane having a wing-span of 95 m is
travelling horizontally towards east with
a speed of 3600 km/hour. If the Earth’s
magnetic field at the location is 4 x 104
and the angle of dip is 30°, then, the

potential difference between the ends of
the wing is

(A) 4V

(B) 5V

© 2v

(D) 25V

43. Which of the following, represents the

variation of inductive reactance (X;) with

the frequency of voltage source (v) ?

42, 25 m DOF W ODY wordd o
ORPIR 3600 km/hr  Bendd) e
PRFE BORTE TOBIFE) 4 x 1074 T
R0F) 03I 30° AN, V'Y TR
Bo0ne Bogesos DfmacBTe),

&) 4V

(B) 5V
(C) 2V

(D) 25V

NSRRI, 3R, BTT Do’ (Xy)

43.
| 2R3R QPS B30 (v) TR Re0RZT

XL A (A) . )
(A) i [4,\,
\4 XL | A
Xp4 B ‘ J |
-(B) _J v
© / | {—”’
L———>V XL | .
XL 4 (D) k
(D) k Y
L———>V .
\;2%)' _Spéce forl'{ Rough Work / 2,883 30‘53* ;g#
| }%y P iiin
Physics ;j?{ ‘__- " [ (17iH)
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44. The magnetic flux linked with a coil
varies as ¢ = 3t2 + 4t + 9. The magnitude

of the emf induced at t = 2 seconds is
(A) 8V

(B) 16V

(C) 32V

(D) 64V

45. A 100 W bulb is connected to an AC
source of 220 V, 50 Hz. Then the current
flowing through the bulb is

5
_(A) T A

(B) A

| =

) 2A

(D) A

|

46. In the series LCR circuit, the power

44, 3odod ROeR OIS T,

o =3t2 +4t +9 doZgFaTon, t =2
2803, Jedre DX B.2R.OF. I
TRRED

(A) 8V
(B) 16V
(C) 32V
(D) 64V

100 W 3 200 e 220 V, 50 Hz 3003
Todnrad DFF  ©EoE WeeRrmon ©
QR B0a0030 BOOIOT DBy

5
(A) kT A

1.
(B) 3 A
(C) 2A

3
(D) ZA

3eed LCR  FpeorsooBdond),  odna)ad

dissipation is through Bem030 mdodir 6932.'30-&3%@:1)
(A) R (A) R
(B) L (B) L
@ c (C) C
(D) BothLandC '
(D) Lz C

Space for Rough Work / %8t 808 e
v
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'

4. In Karnataka, the normal domestic power

49.

supply AC is 220 V, 50 H
’ z. H
and 50 Hz refer to ere 220 v

(A) Peak value of voltage and frequency;

(B) rms value of voltage and frequency
(C) Mean value of v
olt:
frequency e mnd
(D)

Peak value of volta,
ge and
frequency angular

A step-up transformer operates on a
230 V line and a load current of 2 A. The
ratio of primary and secondary windings
is 1 : 25. Then the current in the primary
is

(A)
(B)
©

(D)

25 A
50 A
15A
1256 A

The number of photons falling per second
on a completely darkened plate to
produce a force of 662 x 100 Nis ‘n’. If

the wavelength of the light falling is
_x10%

47.

48.

49.

SmoruEne @ evmcdeenisN 2¥R0I AC
ays B¥godo 220 V. 50 Hz, ad3s.
a3 28 220 V 3533 50 Hz 2033

A)  opRa gon 38 =oe o3

(B) 2R3 rms B D03 3

©) OP=T RooR0 B3 R SF3

D) PSS Bon B35S [ Bees Sl

930 JDFBT IS TR 2A Sned
Zom BRoOTNS D08 RoRIFIT B
2509 3y OPecdds BNY ORTRIRY
1: 25 aBS B BoP03E), BOOIVT
DRF BT

25 A

50 A

15A

125 A

(A)
(B)
(©
(D)

6:62x10° N woai&im@pﬁw oPEoF
3BNTT ILIeDEA, 2,00 Zdoart is 0ed
Vs FpeRT NS R0, ‘o eﬁhd.
383 300n BRTF) 5 x 1077 m SNTY,
n=__ x1022. (h=662x10734J-8)

A 1

B) 5

(C) 02

(D) 33

space for Rough Work / 2.8 iuzh!* 2
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263 BBFed DS Zonad VORI,

C incipal focus | 50.

50. An object is placed at the pl'lllclll-"a o0

of a convex mirror. The image will be at 20T d#gd?% ‘&%ﬁv Siale géwow@ ™
BRI

(A) Centre of curvature a
(A) &I Feods,

(B) Principal focus

| (B) Tpoa Ronsd womd
(€)  Infinity © e
: . . - -

51. An object is placed at a distance of 20 cm | 51 %0@ JRJIY 10 Bo.doe.  Ford
from the pole of a concave mirror of focal BROIT 200D XY DIFE B0
length 10 cm. The distance of the image 20 Ro.Qoe. BRTRY, [WSRNT. et
formed is SLOLLTRRR T[SV BRI
A) +20cm (B) +10cm BNTZT.

c 20 @ -10 (A) +20cm (B) +10cm
© -20em iyt o ©) -20cm (D) -10cm
. _ .

52. A candle placed 25 cm from a lens forms 52. wom FARTRE 25 cm 3036606&53
an image on a screen placed 75 cm on the Roerdd WD @32&02‘3@ BORRTT
other side of the lens. The focal length ’acﬂ@fﬂb 3B 75 cm ©030TY FEIT3.
and type of the lens should be ToGE8 W DRI AR =)

- m )
(A) + 1875 cm and convex lens Ror mdd%? ‘
(A) &3 DRe8 D3y +18-75
(B) - 1875 cm and concave lens e aa
, (B) &Q&md RZ) -18-75 cm
(C) +20-25 cm and convex lens '
(C) &3 I3e3 W +20-25 cm
(D) -20-25 d 1
cm and concave lens D D 32{ 35208 = 3y ~20.25 em
Space for Rough Work / w0t 3ox@ :g.*
\ Y \ 418 v | = | g 1
\ -~ c |2 3z T,
A NPT
PhYSiCS . \_’ ;~ \'5 \( (-—[H)4 — W V J, c /L ‘k_,!.—.
Vs 230 UM %0 Z b , § o
e 30 r _
N \ I bt _L s>
< e .
R voowd

Scanned by CamScanner



Physics

= A Plane wavefront of Wavelen
incident of,x a single slit of widtith e
angular width of Principal maxim . ‘The
um is

I8
© 3 D) &
2\

. In a‘ Fraunhofer diffraction at a sinéle
slit, if yellow light illuminating the slit is

replaced by blue light, then diffraction
bands

(A)
(B)
(©)
(D)

Remain unchanged
Become wider
Disappear

Become narrower

In Young’s double slit experiment, two

wavelengths A, = 780 nm ‘and
Ay = 520 pm  are used to obtain

interference fringes. If the nthl bright

band due to Aq coincides with (n + nth

bright band due to Ag, then the value of n |’

is

A) 4
(B) 3
© 2
D) 6

53.

»  300ro3TRE, 30on=WODII), o8
gegonoRed e TOOWAT. eFroROD
sl a ©N0O Zoos TB  Tedpd
$0eR03 BNRY

@ ® 2
a
a a
© ~ (D) o

o3 aegordod T TET” NRBrIeDg,
pedy  ROOBCIR, SENRSOR BE0 BRB
S8  w3oR  2ed weRE WY
svodnenaad, HRIFS R,OT D
agigont 203

sRoTN3S

POl ADIASE DY

3O3R

(A)
(B)
©
(D)

abort  Qpesorbor  Bodeenad,
A =780 nm R Ag = 520 nm
3hormo3dcy  B¥d - euIcdeend 8R07
S0 SRt porwidd Swad. o
ZrosHidon omozed Ay BA3N (0 + nte
BT )y Bedheamn, 0 3 U

A 4
(B) 3
) 2
D) 6 .

. ——

space for Rough Work / .08 wﬂ':p

(21 -H)

Scanned by CamScanner



56. In Ybung’s double slit experiment, slits

- are separated by 2 mm and the screen is

placed at a distance of 12 m from the

slits. Light consisting of two wavelengths
6500 A and 5200 A are used to obtain
interference fringes. Then the separation
between the fourth bright fringes of two
different patterns produced by the two

~wavelengths is
(A) 0-312 mm
(B) 0-123 mm
(C)_ 0-213 mm

(D) 0412 mm

57. The maximum kinetic energy of emitted

photoelectroné depends on

“(A) Intensity of incidént radiatiox;
(B) Frequency of incident radiation
(C) Speed of incident radiation

(D) Number of photons in the incident
radiation ‘

56. O30S QuednoR BoSRNTY
ZesorboRnd @RS @083 2 mm,
peghriod @) [O[aDH IBDI ©o=d
12 m <. 6500 A Iy 5200 A
300rwo3onY Ble1r® dedaod
wdsdomomrs meudeed  Zas
$0 1Y FRODT 9030

(A) 0-312mm
(B) 0-123 mm
- (©) 0213 mm

(D) 0412 mm

57, Fperin QUERI o WesBiadn
BRI TN

(A)  ©3 D3T0T Se33
(B) &3 833 38

(C) =3 D33es Sen

(D) 53 TeBAS PFpetoa Ny a‘oajLS
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. A proton and an a particle
are accel
gougl:- thi- san.le potential diﬁ'ere::zti;i
e ratio of their de Broglie w ‘
" avelengths

V2
22
NE)
243

(A)
(B)
©

(D)

'.l‘he total energy of an electron revolving
in the second orbit of hydrogen atom is

(A) -136eV

(B) -151eV

(C) -34eV

(D) Zero

The period of revolution of an electron in
the ground state of hydrogen atom is T.
The period of revolution of the electron in

the first excited state is
Aa) 2T

B) 4T
© 6T

m 8T

58. 2.00¢ orgeo3s V 3L, 200> PP
R a-ﬂraﬁd:q eaﬁpdew SInamen,
i@ B¢ W, 450030 BT,

2
B) 22
NE]
@) 23

(A)

©)

59. [ARRHET oRRewdS HOBS 38o0Q,

QSRR 2,432 B8
A) -136 eV
(B)
(©)

(D)

~151eV
-34¢eV

Zero

e R SoSRe0d3Y,  BR
:%aodogdad SLLo RoZy|BoBeD 3R
LIl o=D T, 9T, SInde vdend
:&awgamg S eTn e evern (Tnia)

(A 2T
(B) 4T
(C) 6T

(D) 8T

S

space for Rough Work wdm Gvﬁ#t @
(3)]
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